Jack thinks that all 3D sho.lo,es have at least
one vertex. [s this true or false. Expla,m your
answer

Eva says her 3D shape has 12 nges. Dora,
says she could have a cube, cuboid or
sq,u,a,re—ba,sed Iayram,Ld. Is Dora correct?

E xlalam your answer

Jack thinks that all 3D sh,ap,zs have at least
one vertex. Is this true or false. Exlalam your
answer

Eva says her 3D shapo, has 12 edges. Dora
says she could have a cube, cuboid or
square—b,a,sed Iayram,i,d. Is Dora correct?

E xp[am your answer

Jack thinks that all 3D shalozs have at least
one vertex. Is this true or false. Exlalo,'m your
answer

Eva says her 3D shape has 12 edges. Dora
says she could have a cube, cuboid or
sq,uo,re—ba,sed, Iayraml;d,. Is Dora correct?

E xIaLaLrL your answer

Jack thinks that all 3D sho,lozs have at least
one vertex. /s this true or false. Exlalo,m your
answer

Eva says her 3D shap,e has 12 nges. Dora.
says she could have a cube, cuboid or
sq,uare-b,ased Iayram,'ui. Is Dora correct?

E xIaLo,LrL your answer

Alex has a shalwz with 8 vertices. What 3D
sha,lo,o, could it he?

Amir has a shapz that has half the number
of vertices of an octagon. What sha,lo,z could
he have?

Alex has a shalo,e with 8 vertices. What 3D
siw,loz could it he?

Amir has a sh,aloz that has /wlf the numher
of vertices of an octo,gon. What shalo)z could
he have?

Alex has a shapz with 8 vertices. What 3D
sha,lo,e could it he?

Amir has a sha,lae that has haéf the numher
of vertices of an octo,gon. What sho,loz could
he have?

Alex has a sho,loz with 8 vertices. What 3D
sho,lo,e could it he?

Amir has a S/w,po, that has ha[f the numher
of vertices of an octagon. What sha,lao, could
he have?



